#### COUNTY OF MONMOUTH STATE OF NEW JERSEY

FURNISH AND DELIVER MAINTENANCE MATERIALS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS FOR THE PERIOD JANUARY 1, 2022 THROUGH DECEMBER 31, 2022 (MONMOUTH COUNTY CO-OP) F-30-2022

#### **INCLUDES:**

NOTICE TO BIDDERS
GENERAL CONDITIONS
EEO LANGUAGE
EEO QUESTIONNAIRE
BUSINESS REGISTRATION REQUIREMENTS
STATEMENT OF OWNERSHIP
IRAN DISCLOSURE FORM
AMERICANS WITH DISABILITIES ACT

NON-COLLUSION AFFIDAVIT
ADDENDUM ACKNOWLEDGMENT
BID DOCUMENT CHECKLIST
REQUEST FOR BID
ADDITIONAL SPECIFICATIONS (if any)
SIGNATURE PAGE
ANTI-DISCRIMINATION IN EMPLOYMENT

**AUTHORIZED: May 13, 2021** 

ADVERTISED: September 30, 2021

THOMAS A. ARNONE
DIRECTOR OF THE BOARD OF COUNTY COMMISSIONERS

MARION MASNICK
CLERK OF THE BOARD

TERI O'CONNOR
COUNTY ADMINISTRATOR

HELEN P. FIORE
DIRECTOR OF PURCHASING

Stavola Construction Materials, Inc.

NAME OF BIDDER:_				
ADDRESS:	175 Drift Road			
	Tinton Falls, NJ 07724			
Phone:	732-542-2328	Fax: _	732-389-6083	

PLEASE INCLUDE ONE (1) UNBOUND ORIGINAL BID WITH SIGNATURE(S) AND TWO COPIES

# County of Monmouth REQUEST FOR BID ----- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

**Contact:** Rebecca Szabo 732-431-7370 x7381

FURNISH AND DELIVER MAINTENANCE MATERIALS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS FOR THE PERIOD JANUARY 1, 2022 THROUGH DECEMBER 31, 2022 (MONMOUTH COUNTY CO-OP)

RFB must be rece	ived no later than:	October 20, 2021 10:	30AM
			•
For Delivery to:	Various Delivery Location	ons. See Details Below.	

Delivery Date: \_\_\_\_\_

1/1/2022 - 12/31/2022

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
DIVIS	ION OF HIGHWAY			
1	COARSE SAND GRITS	1,000 TON(S)	No bid	
2	QUARRY BLEND (DIRTY STONE) 3/4" - 1 1/2"	530 TON(S)	\$23.75	\$12,587.50
5	CLEAN QUARRY STONE 3/4" - 1 1/2"	930 TON(S)	\$25.95	\$24,133.50
10	RIP-RAP 12" - 24"	250 TON(S)	\$62.00	\$15,500.00
DIVIS	ION OF ENGINEERING		1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1	
12	COARSE SAND GRITS	50 TON(S)	No bid	
13	QUARRY BLEND (DIRTY STONE) 3/4" - 1 1/2"	1,000 TON(S)	\$23.75	\$23,750.00
14	CLEAN QUARRY STONE 1/4" - 1"	300 TON(S)	\$25.95	\$7,785.00
15	CLEAN QUARRY STONE 1/4" - 1 1/2 "	50 TON(S)	\$25.95	\$1,297.50
16	CLEAN QUARRY STONE 3/4" - 1 1/2"	300 TON(S)	\$25.95	\$7,785.00
	<del></del>			<u> </u>

# County of Monmouth REQUEST FOR BID ----- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

**Contact:** Rebecca Szabo 732-431-7370 x7381

### FURNISH AND DELIVER MAINTENANCE MATERIALS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS FOR THE PERIOD JANUARY 1, 2022 THROUGH DECEMBER 31, 2022 (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
17	CLEAN QUARRY STONE 1 1/2" - 3"	200 TON(S)	\$25.95	\$5,190.00
18	CLEAN QUARRY STONE 1 3/4" - 3 "	60 TON(S)	\$25.95	\$1,557.00
19	QUARRY / STONE DUST	100 TON(S)	\$25.95	\$2,595.00
20	RIP RAP, 4" - 8"	60 TON(S)	No bid	
21	RIP RAP, 8" - 16"	60 TON(S)	No bid	
22	DENSE - GRADED AGGREGATE (VIRGIN)	200 TON(S)	\$23.75	\$4,750.00
DIVIS	ION OF BRIDGES			
	QUARRY BLEND (DIRTY STONE) 3/4" - 1 1/2"	100 TON(S)	\$23.75	\$2,375.00
28	CLEAN QUARRY STONE 1 1/2" - 3"	125 TON(S)	\$25.95	\$3,243.75
32	RIP-RAP 12" - 24"	500 TON(S)	\$62.00	\$31,000.00
33	JETTY STONE, 24" - 36"	300 TON(S)	\$62.00	\$18,600.00
34	ANGULAR STONE, 3/8"	75 TON(S)	No bid	

### County of Monmouth REQUEST FOR BID

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo

732-431-7370 x7381

## FURNISH AND DELIVER MAINTENANCE MATERIALS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS FOR THE PERIOD JANUARY 1, 2022 THROUGH DECEMBER 31, 2022 (MONMOUTH COUNTY CO-OP)

ITEM#		DESCRIPTION	 QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
35	PEA GRAVEL, 3/8"		75 TON(S)	No bid	·
	<u> </u>	<del></del>	TOTAL:	\$162,149	.25

\*\*\*\*\* SEE ATTACHED SPECIFICATIONS \*\*\*\*\*

NOTE: NO DELIVERY OF MATERIAL SHALL BE MADE UNLESS REQUESTED BY THE COUNTY DIVISION SUPERVISORS.

WHEN REQUESTED, DELIVERY SHALL BE MADE WITHIN 48 HOURS SUBSEQUENT TO THE PLACEMENT OF THE ORDER WITH THE CONTRACTOR. DELIVERY IS TO BE MADE IN TRUCK LOADS, MONDAY THROUGH FRIDAY, BETWEEN THE HOURS OF 8:00AM AND 4:00PM ONLY.

#### **Various Delivery Locations:**

Division of Engineering
Public Works Complex, Bldg. E
240E Center Street
Freehold, NJ 07728
Ray Bragg 732-431-7760 x3559

Division of Highway
District #2
240C & 240D Center Street
Freehold, NJ 07728
Cassandra Deckle 732-431-6550

Division of Highway
District #4
2060 Hospital Road
Allenwood, NJ 08720
Cassandra Deckle 732-431-6550

Division of Bridges Public Works Complex, Bldg. E 240E Center Street Freehold, NJ 07728 Tracey Halpin 732-431-6556